Installation instructions Parts package

A v :):b F soucn % (Four pleces)

B MMN G Futwasher @ (Fourtesn pleces)
() M8x25 Goupieen  H oo () JHED  M8x20 reapicen

Mobile TV Stand

D scew ) mmmm M6x25 (Four pleces)

) D M6x60

E Serew (Upgraded version - Unused pats) (Two pleces)
(0 ) M5X10 (Four pleces)
Om M6X10 (Two pieces)
(0> MB5xX8  (Two pieces) (countersunk screw)
( N\

A Precautions when installing

M Do not install over the rated welght,
Damage such as breakage may occur.

M Even if the TV meels the maximum slize and welght, the vertical size of the screen Is so large
that it may be difficuit to Install It on the center shelf, so i s ded that you
the vertical size of the TV first before Installing It, and then Install the main TV stand.

B When you fix each bolt to the TV or TV stend,
I possible, avold electric drivers and tighten them manually.
Too much force may be applled, causing damage to the screws or breakage.

1. Pillar frame + wheel assembly 2, Assembly of pillar frame + universal plate

Using H volt and G Washah

To the desired height

The universal plate Is attached to
Pillar frame the pillar frame. (for wrenches)

Universal plate

70

Use a spanner to
engage the wheel.

S

A
@Q  whee




3. Main lathe assembly

Use H bolt and G washah to seal
the main shelf on the pillar frame.
(for wrenches)

5, Camera shelf + Universal plate

Secure the camera
rack at the desired

Itis engaged only by
bolts, no extra nuts
required.

7.TV installation (complete)

The Instaliation is completed by hanging the

TV connection bracket on the universal plate. ﬁ ﬂ

When you set up the TV.
Pleaso listen together it
possible.

s (Drop caution)

4.Camera shelf assembly

%% O Mmsxio

Camers rack

hoﬁ,muﬁunu:y
required,

—— Camera shelf support

OR

4. Camera shelf assembly

] 7 @ Mmsx10
i
T gy § - Eimnl s
amera rack -— S =3 e,
T},
’ "= @ msxio

—— Camera shelf support

6.TV + TV connection Bracket installation

Prefecably by hand rather than elestric °
Piease give A back. 0
(Cavtion
@ bolts according 1o TV vesa hall
doctor slze. /

Spacers may be used of unused




